il
W
St
%
I

1. THE4
THE4 CHNPEB T (A1) ZiELEHE
THEHA PN YNNI TR S
2. THEHNE
1)  HEI4 KON EEFSTT LEHFE—3
2) £ I & W - JEEAEEY T H
3) T i 341 H [ H 0 64 TH25H
= SFn T 6H30H
4) TEyE

ELAma  JuN TR )R




Vol =
FER N E
THE4 | QEIFEBTHLT (A1) ZFELE
TSy « TfE - FER B {7 ¥ & & # A bl A iR
&G TR =X 1 114, 532, 889
LT = 1 950, 118
HRHEI T = 1 83, 760 | #EH! 300 m3
THp A7 iy L EEME 5, 000m3LL 10,
000m3 AT ;
Bt = 1 105, 860 | B {4 (FLt2) ik 1+ 20 m3
2. 5mATH
Rkt A = 1 173, 718 | iEmEET (8] 1-50) 170 m2
BRI v+ R O + kit
LRI (B 1350) 70 m2
T i S O I BRI
P v T = 1 586, 780 | ¥k i 200 m3
BIL (-27)
b 200 m3
0 CaBl- EHIRY £5Te) ;
b 80 m3
0 Cadl- EHIRY £5Te) ;
b5y A% 80 m3
EOWRIE LY+ ;
&L = 1 81, 558, 287
e+ T 2 1 1,309,461 |FRIEY 1 X
+4)
HEL 1 2V
HmEE 1 =K
P v T = 1 185,861 |F&ift 1 =
BIL (-27)
b T 1 =X
0 Cadl- EHIRY £5T) ;
BESUKT T = 1 62, 502, 045 | FEiA (b—2") 250 m3
+4)
b S S 250 m3
-1- E A2 s SN 7




il
W
St
%
I

THE4L | ZENFEBTHT (A1) ZETHE

TEHEX Sy - THE - R B {7 % & il pall 2! R
0 Cabl- EHIRY £5Te) ;
b5y A% 417 t
15U ;
e 98 m3
av))-h (A AEEM LV 2L
By 98 m3
/)Y - hik (AT
ERAE AT 12 %N
AP (BIAR) 1000mm (1200mm) 448 £ & (BiE)
38.5m(39. Om) ;
T B (BRE B0 121 t
Fa e R T (& BAr) = 17,560,920 |WTXIEE 405 m3
10mPL E11mAlis 370m3LL_-650m3AH; 24-12-25
(20) (47 5
i53i0) 0. 47 t
SD345 D13 ;
] 17. 94 t
SD345 D16~25 ;
FEHMET - 10 N
SD345 D22 X 600 (HDZT77) ;
R Bk AT B A5 IR 151 (E10
D13 Sk 1ImLA T ;
R Bk AT B A5 IR 92 (E10
D16 EkfF R 1mEE~2mLL T ;
R B AT B A5 IR 205 (E10
D16 £k 2mEBE~3mLA T ;
Th-R VMR & 24 &
¢ 150 X640 ;
TR T 2 6, 066, 229
e+ T 2 125,836 | R 1 X
+4)
HEL 1 X
J O 1 =
-2 - E A2 s SN 7




il
W
St
%
I

THE4L | ZENFEBTHT (A1) ZETHE

ﬂlj“

LKy - LA - FER WAL ¥ =& 4
\ 4

# il 5l 2
/)N =47 ey ) (N7 o) 3R) 2V 1 0

,240 | BUGFT AN )b 42 m
(1%Y)
18-8-40 (/& 4F) JEIE46cm 5 X 50cm ;

BFT/ A akay ) -} 1 =i
(15)
18-8-40 (B 47) ME30cm 15 & 265¢m ;

BFT/ A akay ) -} 1 =i
2%5)
18-8-40 (B 47) ME30cm 15 & 265¢m ;

%07 ny )5k 164 m2
150ke/fEAI 8% 35em M7 FERA RC
-40 18-8-40 (/&JF) HEAKY—MIE ;

H Hi 10 m2
T W B i =10 ;

Bl HT Ruiav - 27 m
(I #Y)
18-8-40 (B 47) 1E30cm 15 & 65cm ;

Bl HT Ruiav - 15 m
(IVAY)
18-8-40 (B 47) 1E63cm 15 S 65cm ;

MR B L =X 1 985,503 | EdEay/)-} 93 2
18-8-40 (7&47) t=35cm FA2/7yv47v (RC-40) t=
20cm ;

H HihR 3 m2
TE T AHE R B M =10 ;

WA T = 1 124,650 |IEZ 50 m2
EE T () 100m2A ;

HEYE T Y 1 63, 370

HEYHE L T = 1 32,660 | 4HLLRR LT 20 m
TAT7MEEERR 15emEL T

EhAE AR AR 97 m2
TAT7VMEZERR ShZERRE 5em

-3 - E ta2@d Ui




oY ol SN
TREWNERE
THE4L | ZENFEBTHT (A1) ZETHE
TEHX4y « Tfd - FER B Az £ & #A i il R
TE LB T =Y 30,710 | BoEK 5 m3
TAT7IV NS
RISy 5 m3
TAT7IV NS
A Y 25, 894, 885
TEHERKT Y 6,649,993 | T HEKK L 1 2V
FrE-fE)
FHHF) 1 =
(FriE-fE)
VEZEY-1 i T = 17,599,539 |1-} XAk 1 2V
FrE-fE)
FHHF) 1 =
(FriE-fE)
=77 vBE L Y 1,032,633 |Yer—7 vEIEIL 1 =
B EHT = 612, 720 | AZIEAHEE B 1 =
[ERAE Xy = 114, 532, 889
HiE 2 = 19, 602, 100
BISTIGE: = 8, 350, 100
TE R = 6, 808, 000 | A R AR /) A AH T i 15 B 1 =
L PN R i e = 276,000 |{RENFHAE 1 F2V
HeffrE sy = 199, 100 | /4 RBRE 1 =
BGRESCGES (5 1) = 1, 067, 000
B (FEHL) = 11, 252, 000
-4 - E+A8m SN T S




R PERE
THE4 | LEIPEBTHL (A1) ZFELHE
THEXSy - THE - FE5 H7 & & # i Gl N

R e E20 1 134, 134, 989

e R E20 1 39, 556, 000
T AT 2V 1 173, 690, 989

— e PR E20 1 27,469, 011
N E20 1 201, 160, 000

TAZIEE LN )R




